Communication %

10. Provide the phrase or term indicated. /6
§+ (a) The name for data located at a specific array index.
(b) The ‘n’ in Big-Oh notation stands for this.
m\.\_ mo\n_\- (c) Which sorting algorithm is not “in-place”?
el < Ll (d) The edge guard for moving right.
3 . ,
trade o/ (e) A compromise, You must give up one thing to get another.
i
W WD? r S u..\*| (f) The algorithm named after the CO: rising in glass of pop.

11. Are instructions to fold an origami paper crane an algorithm? Provide 3 reasons why or why not. /3

V\«\w Dv .+..&:a_:.v>u~m«+av# Smake a PApee Crmne -
@t a%ia?#% 2 1f yew llons 4o Hoa endl,
tu gef 1 Cane _?xr &?.?
® %t EE%«J& > folds for_crart. all. listed B evoler

12. What is the trade-off involved in bubble sort? /2

vom:ému::m* 1S nh.m* when  the
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Total % _ﬁzoE_mamm@ Communication & Thinking % Application _HI_V
(96) % (17) (28) (21) (30)
Knowledge ¥
0. This array holds the colours of the rainbow. /7
String rain(]={"red", "orange", "yellow", "green", "blue", "indigo", "violet"};

(a) Fill in the array memory diagram.
[0] (1] [2] (3l [4) (8]

[6]
rtof L9 vellow | Grem | blue \.\_&m\a vig let-

I LY}
(b) What is rainlength? .. Z...... (e) What s in element 3? . Jrean

:\u \X..x.\ b_a.xa\u. xvxb ......

(c) Whatisinrain[1]?
(d) What s in rain[22]?

(f) Whatis the index of indigo?

(g) What are rain’s indices?

Q:Sﬁ:

13. Trace the sorting of this array using each sorting method. /8
Bubbie Sort Selection Sort Bin Sort
< m SRR AEA. 81513101417}1 The Original Array:
Slxi 3l ol ¢l7]] [S13 o478 I
SEEOMEL] DTenerly Ll A7 T (4 1o)
Ci3lolgly 191 LIOIRNGIS7 R gips:
s31o/4ig1711 Ol 24 |s7 [ ot 2314
S310 M [71¢ 1]
Flzlolylz /g 21312013
3lsloidl 7] g
Slols1417111%
Slol4iol7 ) 1g
3|0 .M\w. [ 1718 Final Array:
O3 S17 171X
o3 lyly [ST71]8 OO ||| 2] Z|5| 4|44
S IS1718
Ol 1319 1[5(7 14
14. Put these algorithm speeds in order. 15. In Big-Oh, what is the speed of each? /9
1 is fastest, 7 is sl t
G LURE (a) Selection Sort Qﬂau\v
_ Constant time I
(b) Swapping two values & N; :
n\. O(nlogn) 2
7 om) (c) Bubble Sort (average case) O(n’)
2. 0(n?) (d) Bin Sort o(n)
2- 0(logn) _ (e) Finding the maximum o \5 p .
3. o(n) (f) Finding the average ON\_V
fo. O(n?)

1. The picture names from one row from Swim Hippos is encoded in an int m:.&\ as follows: /9

(a) cmn_mﬁm an array mE. these _.:mmw..m. _uﬁ the picture ::B_um_.m in :
wx* -ﬁb—\m.\-hu = M N.___ h\‘\ {s x\ W\ ﬂ\ N\ N\ -*~ NW\

(b} Write the code needed to print the pictures names on the screen, using a loop.
The first four are shown on the side, your printed list should be formatted in exactly this way.

o list 20, 1< Swinlonglh ;144 s
m\en*..\os R \l\..x\s \hs.\:D 1+ _g\\q v M”w_wm

{(c) Write the code that would swap the zeroth and second values in the array.
rat fmp = SwimLoT - v
Swim Lo 2 Swwim T.\_ v
Swim [2] © ..T\S\ v

2. What is the moral of Bentley’'s example? /1

 Good . %N& i%.. QSE_N\ Copensate 14 4.
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